5068

FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (II1 Semester) Examination
PRINCIPLES OF INSURANCE
(Skill Enhancement Course-1(a))
(New)
Time : 2 Hours] [Max. Marks : 40

Section A — (Marks : 4 x4 =16)
(Short Answer Questions)

1. Answer any four of the following:
(a) Define reinsurance.
(b) What is principle of indemnity?
(c) Explain various types of risk.
(d) What is health insurance?
(¢) How do you calculate annuity amount?

(f) What is consumer buying behaviour?

Section B — (Marks: 2 x 12 = 24)
(Essay Type Questions)
2. Answer all questions:
(a) Differentiate general insurance and life insurance.
Or

(b) Write about the constituents of insurance market.

3. (a) Discuss the role of insurance in economic development.
Or

(b) Explain various principles of insurance.

[P.T.O.
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FACULTY OF ARTS / SOCIAL SCIENCES
B.A./B.A.(L) (I11-Semester) (CBCS) Examination
(Skill Enhancement Course — 1)
Project Planning and Report Writing
(New)
Time: 2 Hours] [Max. Marks: 40

Answer all the questions in serial order.

Section A — (Marks 4 x 4 = 16)
(Short Answer Questions)

1. Answer any four of the following:

a) Project - Meaning
b) Project - Design
c) Project — Work Plan
d) Audience of a Report
e) Format of Report
f) Organising Material for Report
Section B — (Marks 2 x 12 = 24)
(Essay Type Question)
2. (a) Describe the effective strategies of a Successful Project.
(Or)
(b) Write about the Format of a Project.

3. (@ What is Report Writing? Discuss.
(Or)
(b) Classify the importance of Writing Notes.
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FACULTIES OF ARTS/ICOMMERCE/SOCIAL SCIENCES
B.A./B.A.(L)/B.Com./B.B.A. (I111-Semester) (CBCS) Examination

(Skill Enhancement Course — 1)
COMMUNICATION SKILLS IN ENGLISH / COMMUNICATION SKILLS

(Old)
Time: 2 Hours] [Max. Marks: 40

Answer all the questions in serial order.

Section A — (Marks 4 x 4 = 16)
(Short Answer Questions)

1. Answer any four of the following:

a) Effective Listening

b) Oral Communication

c) Extempore

d) Agenda

e) Notice

f) Memo

Section B — (Marks 2 x 12 = 24)
(Essay Type Question)
2. (a) Write about the barriers of Listening.
(on

(b) What are the tenets of Written Communication?

3. (@ Write about the Principles of Letter Writing.
(Or)
(b) What is an E-mail? Explain with an example.
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FACULTY OF SCIENCE
B.Sc. (IIT Semester) Examination
FUNDAMENTALS OF NANOTECHNOLGOY
(Skill Enhanced Course-1)
(New)
Time : 2 Hours] [Max. Marks : 40

Section A — (Marks : 4 x4 =16)
(Short Answer Questions)

1. Answer any four of the following:
(a) Discuss the emergence of Nanotechnology.
(b) Explain bottom-up approaches of the synthesis of Nanomaterials.
(c) Explain the defects in nanocrystals.
(d) Write a short note on Quantum wire.
(e) Discuss the biological applications of Nanomaterials.

(f) Write a short note on Nanometal oxides.
Section B — (Marks: 2 x 12 = 24)
(Essay Type Questions)
2. (a) Whatis Nanotechnology? Explain in detail about the carbon based nanomaterials.

Or

(b) What are the top-down approaches of synthesis of the Nanomaterials and explain
any one method in detail.

3. (a) Discuss in detail about One Dimensional, Two Dimensional and 3 Dimensional
nanostructured materials.

Or

(b) Discuss the applications of Nanomaterials in detail.

[P.T.O.
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FACULTY OF SCIENCE
B.Sc. (IIT Semester) Examination
BIOSTATISTICS
(Skill Enhancement Course - 2)
(New)

Time : 2 Hours] [Max. Marks : 40

Section A — (Marks : 4 x4 =16)

(Short Answer Questions)

1. Attempt any four of the following:

(2)
(b)
(©)

(d)

(e)
(f)

2. (a)

(b)

3. (a)

Discuss about mean, median and mode.

What is skewness? Explain measures of skewness.

Calculate Karl-Pearson's coefficient of correlation for the following data.
X6 121048
Y|[9 |11| 58 |7

Define sample space and mutually exclusive events and give one example for
each.

Define the terms Population, Sample, Parameter and Statistic.

If a surgeon transplants a kidney in 750 cases and succeeds in 250 cases, calculate
the probability of survival after operation.

Section B — (Marks: 2 x 12 = 24)
(Essay Type Questions)
Explain the concept of correlation and types of correlation with an example.
Or

Calculate mean and standard deviation for the following data:

x |20-24| 25-29 | 30-34 | 35-39 [40-44 [ 45-49 [ 50-54 [55-59

y| 2 6 11 20 25 16 7 3

Define the following terms with an example:
(1) Null hypothesis and alternative hypothesis
(i1) Type-I and Type-II errors
(i11) Level of significance
(iv) Degree of freedom
Or [P.T.O.
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(b) Inanexperiment on pea breeding, Mendal obtained the following frequencies of
seeds:

317 round and yellow,

109 round and green,

102 wrinkled and yellow, and
32 wrinkled and green.

Theory predicts that the frequencies would be in the proportion 9:3:3:1. Use
Chi-square test, examine the experiment results, support the theory. [Table value
of Chi-square at 0.05 L.O.S. for 3 degrees of freedom = 7.81].
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5078
FACULTY OF ARTS/SOCIAL SCIENCES
B.A./B.A. (L) (11I-SEMESTER) (CBCS) EXAMINATION
Skill Enhancement Course - 2
Entrepreneurship Development
(New)

Time: 2 Hours] [Max Marks: 40
Section — A (Marks: 4 x 4 = 16)
(Short Answer Questions)

1. Answer any FOUR of the following:

a) What is entrepreneurship? Explain briefly.
Spedposd OIMIN? Bofdsnmr B80S

b) Write a short note on Entrepreneurship and its linkages.
SRPBEE DOk R wkdorrioD e ofndEs (e ciode.

c) Write the benefits of Entrepreneurship.
RPBES S SOR (B Brerods (°ahod.

d) Explain ‘capital structure”’.
Lol Aosnds DH5BowE.

e) Write a brief note on sources of finance.
DESroroR 28 YodH DB adod.

f) How joint venture is helpful in the promotion of entrepreneurship? Discuss briefly.
SEPLEES @) erosios® aind 3088 der &h%os” JogBsom SQyoHcx.

Section — B (Marks: 2 x 12 = 24)
(Essay Type Questions)
Answer the following questions

2. (a) Explain the problems of Rural Entrepreneurship in India.
88 Bt er"ﬁ)as'a éséﬁ;‘ééé ABTotn) DoYed DXBoWHS.
(Or)
(b) Discuss the role of Entrepreneurship in Economic Development of India.
PEETE esgs‘%’);se)%és zsézéagééé FE Soyosol.

3. (a) Explain the composition and functioning of State Small Industries Development
Corporation.
oo D) DO 5B Bo Tl Kty Dok SATD Ry DdoHS.
(Or)
(b) How does the District Industrial Estates support the growth of Entrepreneurship in
that particular district? Explain.
2o FOTWE TEw © RSV SHTHLE 0PHAS® Jo Sydibmnon? DEdobID.
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (I11 Semester) Examination
PRACTICE OF LIFE INSURANCE
(Skill Enhancement Course-2(a))
(New)
Time : 2 Hours] [Max. Marks : 40

Section A — (Marks : 4 x 4 = 16)
(Short Answer Questions)
1. Answer any four of the following:
(@) What is premium?
(b) Define ULIPs.
(c) Annuities.
(d) What is claim settlement?
(e) What is taxation in insurance?
(f) What is deathclaim?

Section B — (Marks: 2 x 12 = 24)
(Essay Type Questions)
2. Answer all questions:
(@) What is the role of premium in insurance? What are the types of premium?
Or
(b) Briefly describe the principles of insurance.

3. (a) Describe the process of getting insurance policy in life insurance.
Or

(b) What is financial planning? Explain the role of life insurance policies in financial
planning.

[P.T.O.
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FACULTY OF ARTS / SCIENCE / SCOCIAL SCIENCES/ COMMERCE
B.A./B.A. (L) /B.Sc./B.Com./ B.B.A. (I11-Semester) (CBCS) Examination
GENERAL ENGLISH
Paper 111
(New)

Time: 3 Hours] [Max. Marks: 60
Answer any FOUR questions. (4 x 15 = 60 Marks)

1. Write about gender-based discrimination discussed in *Achieving Gender Equality in
India’.

2. What ‘natural prediction’ has been disapproved by statistics with reference to
‘Achieving Gender Equality in India’?

3. How does Dickinson challenge the notion of ‘men writing poetry’ from the poem
‘They Shut Me Up in Prose’?

4. What do Kalpana Saroj’s accomplishments reveal about her?

5. Examine the role of ‘shame’ plays in reinforcing gender roles from the point of view
of Kalpana Saroj.

6. Explain why the speaker calls her ‘Kitchen’ a mortuary.
7. Describe the importance of the title ‘What is My Name?’.

8. What is the final request of the speaker to her mother in the poem “Voice of the
Unwanted Girl’?
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FACULTY OF ARTS / SCIENCE / SCOCIAL SCIENCES/ COMMERCE
B.A./B.A. (L) /B.Sc./B.Com./ B.B.A. (I11-Semester) (CBCS) Examination
GENERAL ENGLISH
Paper 111
(Old)

Time: 3 Hours] [Max. Marks: 80
Answer any FOUR questions (4 x 20 = 80 Marks)

1. Write the story “The Touch’ in your own words.

2. Describe the character of narrator’s father in the story ‘“The Touch’?

3. What is truthfulness described by M.K. Gandhi in the essay ‘To Students’?
4. How can one eliminate problems in rural areas from the essay ‘To Students’?
5. Describe the agony of the narrator in the poem “The Bat Messenger’.

6. Write about the central idea of the poem ‘The Bat Messenger”.

7. Write about of Ramanujan’s greatness in the field of Mathematics.

8. What were the efforts of Ramanujan for his higher studies in the play ‘Ramanujan’?
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FACULTY OF SCIENCE
B.C.A. (Il Semester) Examination
OBJECTORIENTED PROGRAMMING WITH C++
Paper 11
Time : 3 Hours] [Max. Marks : 70

Section A — (Marks: 4 x 10 =40)
Answer any four questions.

1. Draw a flowchart to check the given number is even or odd.

2.  What are the primary data types in C++? Discuss.
3. Describe the input/output statements in C++.
4. Define the storage class register. Explain with an example.
5. How union is created? Discuss.
6. How nested classes is created in C++?
7.  Write a short note on object slicing.
8. Give a short note on virtual constructor.
Section B — (Marks: 2 x 15 =30)
Answer any two questions.
9. Compare and contrast entry control and exit control loops.
10. Explain the different ways of creating inline function in C++.
11. What is constructor overloading? Explain with an example.

12. Write a program to overload primary operator +.




3285/6

FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.A.(L)/B.Sc./B.Com./B.B.A. (I Semester) Examination
TELUGU
Paper 11
(Second Language)

(Old)

Time : 3 Hours] [Max. Marks : 80
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.Sc./B.Com./B.B.A. (I Semester) Examination
SANSKRIT
Paper 11
(Second Language)

(Ol1d)

(Under CBCS)

Time: 3 Hours] [Max. Marks: 80
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.Sc./B.Com./B.B.A. (Il Semester) Examination
ARABIC
Paper 11
(Second Language)
Time : 3 Hours] [Max. Marks : 80

Answer any five Questions.

(1) Write the summary of "Suratul Qadr"
94yl 3 3 g’ AW ST
(2) Answer the following questions:
S A e ST
SN 8y g0 SAT @5 (A
Thoike pl 4503 5 gl 0 2 ()
B il o p 2 ¥z 20 I8 (2)
§ g op B0 JUs e Jomle DLWV 8 2 2 (3)
(3) Answer the following questions:
Y Ul e o
6o b on (il
€yl gim g sladl o 39U Sy 2 (@)
£ rell (S LI ol ) Mkws fa ()
s rn o7 et s J2 (9)
(4) Write the summary of the Lesson "Seventh Nizam's Mir Osman Ali Khan"?
fulr e plate e “@L..Jl pladl” 4ot (S
(5) Answer the following questions:
A el e
883 5 Sl b ()
055 mle (@)
Sl gl 8 5 S (2)
feaI U e (3)

[P.T.O.
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(6) Write the summary of the Poem.
e
b iU Lot ST
(7) Write about Nominal sentences with examples.
Y e el At 8 7Y
(8) Explain about the Possessive Phrase.
1LY S jall o ST
(9) Write about the compelation of Holy Quran.
VA g e SN
(10) Write a note on "Poetry in Islamic Period".
SNl paall a2V o LS
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.A.(L) /B.Sc./B.Com./B.B.A./B.Voc. (I Semester) Examination
HINDI
Paper 11
(Second Language)

Time: 3 Hours] [Max. Marks: 80/40
foreel uier et a1 I iUl
(Marks : 5 x 16 = 80)/(Marks : 5 x 8 =40 B.Voc.)
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.Sc./B.Com./B.B.A. (II Semester) Examination

URDU
Paper 11
(Second Language)
Time : 3 Hours| [Max. Marks : 80
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FACULTY OF ARTS
B.A. (Languages - Telugu) (II Semester) Examination
SANSKRIT
Paper I11
Time : 3 Hours] [Max. Marks : 80
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.A.(L)/B.Sc./B.Com./B.B.A./B.Voc. (I Semester) Examination
TELUGU
Paper 11
(Second Language)

(New)

Time : 3 Hours] [Max. Marks : 80/40
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.Sc./B.Com./B.B.A. (I Semester) Examination
SANSKRIT
Paper 11
(Second Language)

(New)

(Under CBCS)

Time: 3 Hours] [Max. Marks: 80

Answer any four questions.
(Marks : 4 x 20 =80)
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.Sc./B.Com./B.B.A. III Semester Examination
TELUGU
Paper 111
(Second Language)
(New)
(Under CBCS)
Time : 3 Hours] [Max. Marks : 60

&5 (308 T°DS° JDD TOOK ()05 FHTFREer T°000G.
(S0 : 4% 15 = 60)

L ggoe K£93030050 BenNos.
2. DA BSeTHD BT BY IR 0°00038.

3. @0ORSED DY DY B8 FoETY K00 D
PO |D0BHN 008 MHETE dairgoanc )od
ADOH§EIBE02 YD) §THT? S dworBoD»T
B)or 80D BBC ePHDHIKNS BADS TATHH0S
s KJCS"éﬁ)g AW g P00

4. 80 (HFNS" KD HGodD A0y Moearieron 9980V,
5. (B0 109800 TP DD DprarR) D87YHos.

6. o PR OGN SCOTFHOTH0N KB TG00 FELOW YYD DoBEDNES®

B0D0G?
1. QTPFOEPR, WOTFOR®R), AE DGR WOO0ST°ON AP IS0 DHBoD0G.

8. JrSS, egodsvsd, $)ods ©eoseTremy ATrrseon 9380308,




3611/6

FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.Sc./B.Com./B.B.A. III Semester Examination
TELUGU
Paper 111
(Second Language)
(0ld)
(Under CBCS)
Time : 3 Hours] [Max. Marks : 80

55 (308 T°DS° JDD TOVK (D)0 DITFREed T°000G.
(om0 : 4 x 20 = 80)

1. DK oecRowo Bodain Bg50; BBR; a0 Hifo
22 BT SIESE BopE A0t HH7D? 5o
B VEBY DS i ééo)cfﬁ DINC |T°Eg D003
KA 000 KK GO B (GoHoew Rsar!
s KJCS"éX)g SO o00G.

2. 2PAENE G T WA0DD IR IHBoH0G.

3. % FEET ST EON® AeNEAg o ) 9H80V0&.

4. 805 “e8RB0” T°g0° VDY BPDAICR) BevDos.

5. 2o S TESE Bormrmeds Agosy BS e YSIrodd KX BewHod.
6. ErounBen §§S° ad Ky dHBoBvosd.

7. 39 HJven e ad DBeR) BenHod.

8. 99 dvew TeE0S™ R0y e (B0 HBVAHO Davod.




5097

FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.Sc./B.Com./B.B.A. (IIT Semester) Examination
HINDI
Paper 111
(Second Language)
(New)

(CBCS)
Time : 3 Hours] [Max. Marks : 60

farg] |R F971 &1 T} FlT7/

(Marks : 4 x 15 = 60)

1. SHeIRGE 7 IH AW, Te I HiEHT SR WG STH & aR § T el ?

2. YA A F AR H STAh FOT A ST HIAT § T HT HeT? IGTe Hied
ST

3. qAEe™ 9 W AT |G’ a1 A ATk & TR § U Srel § T el ?
4. YR TEIE hl wigdr ‘WRa w1 g forfag

5. ‘Shraq o1 rfieR R wfgar @1 ari fafau)

6. ‘Tagah ¥ wfaar i fawar fafau)

7. WichehTel T ATHSRT 3R FgfEl W)y gy

8. ‘gafexwr 3k ygwwr fawa W frere fafau)




3597/6
FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
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Paper 11
(Old & New)
Time: 3 Hours] [Max. Marks: 80
Attempt any four questions from the following:
(Marks: 4 x 20 = 80)

1. Attempt any two questions from the following: 2 x10=20

(a) What do you mean by Classification of Data? Explain.

(b) Write a short note on Pictograms and Cartograms.

(c) Calculate Harmonic Mean for the following data:

Class Interval Frequency
0-10 4
10-20 10
20-30 16
30-40 22
40-50 32
50-60 20
60-70 13
70-80 3
(d) Calculate Standard Deviation for the following data:
Marks (X) Students (F)
0-10 12
10-20 18
20-30 35
30-40 42
40-50 50
50-60 45
60-70 20
70-80 8

(e) What is probable error? How do you measure it?
2. Define statistics. Write its importance and distrust.

3. What is sampling? Explain various sampling methods.
[P.T.O.
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What do you mean by Graphic presentation? Explain its advantages and disadvantages.

Construct Histogram for the following data:

Class Frequency
0-20 7
20-40 15
40-60 27
60-80 16
80-100 4

Define measures of Central Tendency. List out their merits and limitations.

Calculate Mode for the following data:

Marks No. of. Students
0-10 3
10-20 5
20-30 7
30-40 10
40-50 10
50-60 17
60-70 10
70-80 6
80-90 7

90-100 5

Write the significance and characteristics of measures of dispersion.

Calculate Bowley’s Coefficient of Skewness from the following data:

Class Interval Frequency
0-10 5
10-20 12
20-30 25
30-40 18
40-50 6
50-60 4
10. Calculate Karl Pearson’s Coefticient of Correlation for the following data:
Price (X) Rs. Demand (Y) Tonnes
11 60
12 58
13 58
14 50
15 48
16 48
17 48
18 42
19 36
20 32
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FACULTY OF SCIENCE
B.Sc. (IIT Semester) Examination
CHEMISTRY
Paper 111
(New)

(Under CBCS)

Time: 3 Hours] [Max. Marks: 80

1. (a)
(b)
2. (a)

(b)

(a)
(b)
(c)
(d)
(e)
4. (a)
(b)
5. (a)

(b)

6. (a)
(b)

Section A — (4 x 10 = 40)
Answer any four questions.
Explain the separation of Lanthanides by lon-exchange method.
Describe the synthetic applications of Grignard reagent.
Write the mechanism of Acid hydrolysis of Esters.

How are Cyanides and Isocyanides prepared from alkyl halides and amides?

Write the [UPAC names of the following complexes:

[Co (NH,), CL]

[Cr (en), C1]Br

[Pt (NH,), CIBr]

K, [Fe (CN),]

[Fe (H,0),]SO,

Write Hell-Vohlard-Zelinsky (HVZ) reaction with mechanism.
Explain NEF reaction.

Derive an expression for the work done in the reversible isothermal expansion of
an ideal gas.

Calculate the work done when 2 moles of an ideal gas expands isothermally and
reversibly at 27°C from 10 liter to 100 liter.

Derive Gibbs - Helmholtz equation.

Define Second law of thermodynamics in various forms.

[P.T.O.
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12.

(a)
(b)
(a)
(b)

(2)

(b)
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Explain Phase, Component and Degrees of freedom.
How will you convert the acetylene into 2-Butyne.
Discuss about Relative errors and Absolute errors.

What are significant figures? State the number of significant figures in the
following:

(i) 4321 (i) 0.078
(iii) 9.012 (iv) 9.12 x 10’

Section B — (2 x 20 = 40)
Answer any two questions.

What are Organo metallic compounds? How are they classified on the basis of
metal-carbon bond with examples.

(1) Write the postulates of Werner’s theory of co-ordination compounds.

(ii) How does VBT explains magnetic behaviour of [Ni C1,]*"and [Ni (CN),]?
complexes?

How is Benzene Diazonium Chloride (BDC) prepared? How will you prepare
the following compounds from it?

(1) Chloro benzene (ii) Phenol (iii) Fluoro benzene (iv) p-Hydroxy azobenzene
Explain the mechanism of (i) Hoffman’s bromide reaction (i) Hunsdicker reaction.
(1) Explain intensive and extensive properties with examples.

(i1)) Show that an ideal gas, Cp -C =R

(i) Derive Kirchhoff’s equation.

(i) Calculate the efficiency of heat engine working between 500°C and 100°C.
Draw and explain the phase diagram of water system.

Explain the mechanism of (i) Perkin reaction (ii) Benzoin condensation.
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FACULTY OF SCIENCE
B.Sc. (IIT Semester) Examination
CHEMISTRY
Paper 111
(New)

(Under CBCS)

Time: 3 Hours] [Max. Marks: 80

1. (a)
(b)
2. (a)

(b)

(a)
(b)
(c)
(d)
(e)
4. (a)
(b)
5. (a)

(b)

6. (a)
(b)

Section A — (4 x 10 = 40)
Answer any four questions.
Explain the separation of Lanthanides by lon-exchange method.
Describe the synthetic applications of Grignard reagent.
Write the mechanism of Acid hydrolysis of Esters.

How are Cyanides and Isocyanides prepared from alkyl halides and amides?

Write the [UPAC names of the following complexes:

[Co (NH,), CL]

[Cr (en), C1]Br

[Pt (NH,), CIBr]

K, [Fe (CN),]

[Fe (H,0),]SO,

Write Hell-Vohlard-Zelinsky (HVZ) reaction with mechanism.
Explain NEF reaction.

Derive an expression for the work done in the reversible isothermal expansion of
an ideal gas.

Calculate the work done when 2 moles of an ideal gas expands isothermally and
reversibly at 27°C from 10 liter to 100 liter.

Derive Gibbs - Helmholtz equation.

Define Second law of thermodynamics in various forms.

[P.T.O.
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Explain Phase, Component and Degrees of freedom.
How will you convert the acetylene into 2-Butyne.
Discuss about Relative errors and Absolute errors.

What are significant figures? State the number of significant figures in the
following:

(1) 4321 (1) 0.078

(iii) 9.012 (iv) 9.12 x 10’
Section B — (2 x 20 = 40)
Answer any two questions.

What are Organo metallic compounds? How are they classified on the basis of
metal-carbon bond with examples.

(1) Write the postulates of Werner’s theory of co-ordination compounds.

(ii) How does VBT explains magnetic behaviour of [Ni C1,]*"and [Ni (CN),]?
complexes?

How is Benzene Diazonium Chloride (BDC) prepared? How will you prepare
the following compounds from it?

(1) Chloro benzene (ii) Phenol (iii) Fluoro benzene (iv) p-Hydroxy azobenzene
Explain the mechanism of (i) Hoffman’s bromide reaction (ii) Hunsdicker reaction.
(1) Explain intensive and extensive properties with examples.

(i1)) Show that an ideal gas, Cp -C =R

(1) Derive Kirchhoff’s equation.

(i) Calculate the efficiency of heat engine working between 500°C and 100°C.
Draw and explain the phase diagram of water system.

Explain the mechanism of (i) Perkin reaction (ii) Benzoin condensation.
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Section A — (Marks : 4 x 10 = 40)
el ey (4)/[7(3‘:(
) — Iy ¥
-3/ 6 l»‘/ separation of Lanthanides by lon-exchange method (a) (1)
-3/(;).(;:( synthetic applications of Grignard reagent (b)
-f’g(('/’!g»ﬁ Acid hydrolysis of Esters (a) (2)
?uﬂ[Cyanides and Isocyanides prepared from alkyl halides and amides (b)

:ﬁg(urtLIUPAC“Lz:c«W/JJGA (3)
[Co (NH,)6 CL ] (a)

[Cr (en), CL]Br (b)
[Pt (NH,), C1Br] (c)
K, [Fe (CN),] (d)

[Fe (H,0),150, (e)
g Hell-Vohlard-Zelinsky (HVZ) reaction with mechanism (a) (4)
_;/ugNEF reaction (b)
1 l?.:U"LLJf Lbi.ﬁg)’( UX reversible isothermal expansion of an ideal gas (a) (5)
work done when 2 moles of an ideal gas expands isothermally and reversibly at (b)
=il @..,al/ K'27°C from 10 liter to 100 liter
-,/uy. Gibbs - Helmholtz equation (a) (6)
?‘ay;(Second law of thermodynamics in various forms (b)
_,/uy. Phase, Component and Degrees of freedom (a) (7)
?di;/d X Z/)’J( _;Tu.‘.'Z-Butynef acetylene (b)
-;/&ig}w L Relative errors and Absolute errors (a) (8)
I;/U‘L;J;:‘;Lsignificant figuresJ: S IO%) ?ujgsignificant figures (b)
(1) 4321 (ii) 0.078

(iii) 9.012 (iv) 9.12 x 107 [P.T.O.
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Section B — (Marks : 2 x 20 = 40)
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1 and [Ni (CN), 1% complexes (i)

?ﬁ'_b’/ 5 I)C)’gf/

J—’!LQ/5£J’?‘Lt’%EC?C/’JTBenzene Diazonium Chloride (BDC) (a) (10)
YT

(i) Chloro benzene  (ii) Phenol  (iii) Fluoro benzene (iv) p-Hydroxy azobenzene

veTY magnetic behaviourZ [NiCl,

_;/u.ltzr‘/'ﬂ“nd/ (i) Hoffman’s bromide reaction (ii) Hunsdicker reaction (b)
2/ fj AL UJEd intensive and extensive properties(i) (a) (11)
C,-C,=R e oAt S5t G
-)/uy.)/Kirchhoff's equation (i) (b)
-56?L—>Kefﬁciency of heat engine working between 500°C and 100°C (ji)
-uru:ﬁj;b/ 5 l;:( phase diagram of water system (a) (12)

_;/u.l,u( mechanism of (i) Perkin reaction (ii) Benzoin condensation (b)
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FACULTY OF SOCIAL SCIENCES
B.A. (IIT Semester) Examination
ECONOMICS
Paper III
(Statistics for Economics)
(New)

(Marks : 5 x 16 = 80)

Attempt any two questions in short-form.

(2)
(b)
(©)
(d)
(e)

Distinguish between census and sampling.
What are the properties of good average?

What are the uses of index numbers?
What are the components of Time series?

Explain the scope and uses of statistics.

Distinguish between correlation and regression.

[Max. Marks: 80
Attempt any five questions from the following. Question No. 1.is compulsory.

2x8=16

What are the various types of graphic and diagrammatic representation of data and
their uses?

Explain the merits and demerits of Arithmetic mean and calculate the AM for the
following distribution.

X

100-200

200-300

300-400

400-500

500-600

600-700

f

3

5

8

6

5

3

What are the merits and demerits of standard deviation?

Discuss the uses and limitations of Regression Analysis in Economics.

Calculate Spearman’s Rank correlation for the given data:

Marks in Statistics (A)

40

42 | 45

35

36

39

Marks in English (B)

46

43 | 44

39

40

43

What is Index number and explain the problems in the construction of Index numbers?

Construct Laspeyers and Paasche’s Index numbers for the following data:

Item Base Year Current Year
Po Q0 Pl Ql
A 5 60 15 70
B 4 20 8 35
C 3 15 6 20

What are the uses and limitations of Time series analysis?

[P.T.O.
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P, Q, P, Q,
A 5 60 15 70
B 4 20 35
C 3 15 20
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FACULTY OF SOCIAL SCIENCES
B.A. (IIT Semester) Examination
ECONOMICS
Paper III
(Statistics for Economics)
(New)

(Marks : 5 x 16 = 80)

Attempt any two questions in short-form.

(2)
(b)
(©)
(d)
(e)

Distinguish between census and sampling.
What are the properties of good average?

What are the uses of index numbers?
What are the components of Time series?

Explain the scope and uses of statistics.

Distinguish between correlation and regression.

[Max. Marks: 80
Attempt any five questions from the following. Question No. 1.is compulsory.

2x8=16

What are the various types of graphic and diagrammatic representation of data and
their uses?

Explain the merits and demerits of Arithmetic mean and calculate the AM for the
following distribution.

X

100-200

200-300

300-400

400-500

500-600

600-700

f

3

5

8

6

5

3

What are the merits and demerits of standard deviation?

Discuss the uses and limitations of Regression Analysis in Economics.

Calculate Spearman’s Rank correlation for the given data:

Marks in Statistics (A)

40

42 | 45

35

36

39

Marks in English (B)

46

43 | 44

39

40

43

What is Index number and explain the problems in the construction of Index numbers?

Construct Laspeyers and Paasche’s Index numbers for the following data:

Item Base Year Current Year
Po Q0 Pl Ql
A 5 60 15 70
B 4 20 8 35
C 3 15 6 20

What are the uses and limitations of Time series analysis?

[P.T.O.
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-J}UL(‘/)L regression.sicorrelation (c)
UL el A (d)
SHIRIL 2t (o)
2/ 5 155765 A1.01 1 statistics (2)
-;/@QzJ(ﬁ’*""l(uml?ugy?ul.ic’égraphic and diagrammatic representation of data (3)

1 6..,(2( AM%&(.TW J: 5,31,6/.;/ 5 Iy £ L3141 9L Arithmetic mean (4)

X

100-200

200-300

300-400

400-500

500-600

600-700

f

3

5

8

6

5

3

Ut e blhi12 standard deviationJV]dJ.l,:» (5)
-;/'U?ibl}{dlﬁ*‘léu’ LalsrdRegression Analysis &= b+ (6)
56> Sperman’s Rank correlatione & (322 s} 3t (7)

Marks in Statistics (A) 40 42 45 35 36 39
Marks in English (B) 46 43 44 39 40 43
_,/ugiugﬂﬁ)du';Tu:Ltsz?‘éL{/,ifffcl (8)
:5&:/,}J§,'él¢f_ Paasche.s/Laspeyers “Lgf.l‘gjdj 3t (9)
—_ Base Year Current Year
Py Qo P Q
A 5 60 15 70
4 20 8 35
C 3 15 6 20

?ugy;,yj,ldbplﬁ,:f:z[("lf (10)
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (111 Semester) (CBCS) Examination
(Computers)
Paper-111
Relational Database Management Systems
(New)

Time: 3 Hours] [Max. Marks: 50

Attempt any FOUR Questions including Question No. 1 which is compulsory

1.

8.

9.

(Marks: 4 x 12 % =50)
Attempt any TWO Questions in Short-form

(a) What are the advantages of DBMS over file-based system?

(b) Explain Super key, Surrogate key and Foreign key.

(c) What are the Transaction Control Language (TCL) commands?
(d) What is lock? Explain the types of locking techniques.

(e) What is Data Fragmentation? Explain its advantages.

Explain the functions and role of Database Administrator.

Discuss constraint violation with examples.

What is Normalization? Explain 3NF with an example.

What are the advantages and disadvantages of Heap and Sequential file organizations.
What is DML and explain its various commands with their respective syntax.

What are Joins? Explain the different types of joins with examples.

What is Deadlock? Explain deadlock prevention techniques.

Explain database security.

10. Discuss the advantages and disadvantages of DDBMS.
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (II1 Semester) Examination
FINANCIAL INSTITUTIONS & MARKETS
Paper 111
(New)

Time: 3 Hours] [Max. Marks: 80

8.

9.

Answer any four questions, including Q. No. 1. which is compulsory.
(Marks: 4 x 20 = 80)

Attempt any two questions in short-form: 2x10=20
(a) Define Capital Market.

(b) LAF (Liquidity Adjustment Facility).

(c) Call money market.

(d) PSU Bonds.

(e) Open Market transactions.

Explain the weakness of Indian financial system.

Name the components of a financial system.

Define Venture Capital. Explain its objectives.

Discuss private equity and its role in start-ups.

Discuss the features of Indian Money Market.

What is the role of primary market in financial organization?
Explain the various types of government securities in PSU bonds.

Discuss the importance of Debt Market.

10. Explain the objectives of SEBL

[P.T.O.
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT

B.Com. (II1 Semester) Examination
FINANCIAL INSTITUTIONS & MARKETS
Paper 111
(New)

Time: 3 Hours|

8.

9.

[Max. Marks: 80

Answer any four questions, including Q. No. 1. which is compulsory.

(Marks: 4 x 20 = 80)
Attempt any two questions in short-form:
(a) Define Capital Market.
(b) LAF (Liquidity Adjustment Facility).
(c) Call money market.
(d) PSU Bonds.

(e) Open Market transactions.

Explain the weakness of Indian financial system.

Name the components of a financial system.

Define Venture Capital. Explain its objectives.

Discuss private equity and its role in start-ups.

Discuss the features of Indian Money Market.

What is the role of primary market in financial organization?
Explain the various types of government securities in PSU bonds.

Discuss the importance of Debt Market.

10. Explain the objectives of SEBL

2x10=20

[P.T.O.
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Call money market (c)
PSU Bonds (d)
Open Market transactions (e)
IOt P S BT Seain (2)
Stptl 2L B (3)
WL l,;ﬁ/u'»éw?%gfg/i"; (a)
e IE L Sislprivate equity (5)
/Byl e st (6)
S KA L BT (7)
-2/ 5 s 7:/{?6/(/41 (:Lal?fut PSU bonds (8)
_)/(J?J).V/?%‘”J (Debit Market) ."/le.‘f /“ (9)
ST bie L sEBI (10)




3598/6

FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (II1 Semester) Examination
INCOME TAX-I
Paper 111
(Old)
(CBCS)

Time : 3 Hours] [Max. Marks : 80

Attempt any four questions, including Question No. 1 which is compulsory.
(Marks : 4 x 20 = 80)

Attempt any two questions in short-form : (2x10=20)
(a) Assessee and Deemed Assessee.

(b) What is Agricultural Income and how it is treated for tax purpose?

(c) What are the deductions available under Section 16?

(d) State exempted House Property incomes.

(e) What are the conditions for allowing depreciation on Assets as per Section 32?
Explain the procedure for calculation of Total Income under Income Tax Act, 1961.

Mrs. Padma 53 years age an Indian citizen left to America on 1-7-2015 and returned
to India on 1-5-2018 and again left to America on 1-1-2021. Determine her residential
status for the previous year 2020-21 relevant to the Assessment Year 2021-22.

Explain the steps involved in calculation of tax on integration of Agricultural Income
with Non-agricultural Income.

Mr. Ramu is owing agriculture land in a village in India. During the previous year
2020-21 his expenses on agriculture are: Seed expenses Rs. 30,000; Wages to labour
Rs. 60,000; Fertilizers Rs. 10,000 and Other incidental expenses Rs. 5,000.
Depreciation on tractor and other equipment Rs. 20,000, Electricity bill Rs. 30,000
due but not paid. Sale proceeds of the crop Rs. 2,55,000 and his income from other
heads is Rs. 12,00,000. Calculate tax liability for the Assessment Year 2021-22 and
also show the net effect of integrating the income.

Define Salary and explain its characteristics.

From the following particulars, compute the Income from Salary of Sri Vasudev,
working in a private company, for the Assessment Year 2021-22: Basic salary
Rs. 30,000 p.m.; Dearness Allowance Rs. 15,000 p.m.; CCA Rs. 4,000 p.m.; House
Rent Allowance Rs. 4,000 p.m.; Rent paid in Hyderabad Rs. 3,000 p.m.; and
Professional tax paid Rs. 100 p.m.

[P.T.O.
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Discuss the process of calculation of annual value for let-out house property.

On 1-4-2019 Sri Krishna is the owner of a house which is let out to Sri Ramana on a
monthly rent of Rs. 6,800. The municipal rental value is Rs. 60,000 p.a. and rent of
similar building is Rs. 8,000 p.m. Sri Krishna incurs the following expenses : Municipal
taxes Rs. 6,000; Insurance (Fire) Rs. 300 ; Interest on Loan taken to construct the
house Rs.14,000; Ground Rent Rs. 250; Repairs Rs. 4,000 and Collection charges Rs.
500. Compute Income from House Property for the Assessment Year 2021-22.

Compute Sri Madhav’s profit from the business for the Assessment Year 2021-22.
The following is the Profit and Loss A/c. for the year ending 31-3-2021 :

Particulars Rs. Particulars Rs.
To Salaries 13,50,000 | By Gross Profit 74,84,000
To Rent 15,00,000 | By Gift from Sister 15,000
To Interest 3,25,000 | By Gain in chit fund
To Bad debts 50,000 (business funds) 45,000
To Provision for By Bad debts recovered (out of
bad debts 35,000 which 40,000 is disallowed
To General Expenses 2,48.,000 carlier) 70,000
To Advertisement 1,25,000 | By Interest on Securities 14,000
To Repairs to Buildings 95,000
To Loss of Stock due
to pilferage 1,00,000
To Security transaction tax 1,500
To Depreciation 5,00,000
To Net Profit 32,98,500
76,28,000 76,28,000

On investigation by the Income Tax Department the following were noticed :

(2)
(b)
(©)
(d)

provisions.

Rent includes prepaid rent Rs. 3,00,000.

Depreciation allowed as per IT Act is Rs. 4,85,000.

As per rental agreement owner has to bear repairs of buildings.

General Expenses include Rs. 40,000 paid as penalty for violation of sales tax
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FACULTY OF SOCIAL SCIENCES
B.A. (IIT Semester) Examination
HISTORY
Paper I11
(History of India (1526-1857 CE)
(CBCS)

Time : 3 Hours] [Max. Marks : 80

9.

Answer any five questions, including Q. No. 1.
(Marks : 5 x 16 = 80)
Attempt any two questions in short-form. 2x8=16
(a) Panipat War - L.
(b) Ranjith Singh.
(c) Vasco da gama.
(d) Mercantilism.

(e) Railways.

Examine the achievements of Akbar.

Write an essay on Mughal Art and Architecture.

Estimate the greatness of Shivaji.

Explain the causes and results of Third Battle of Panipat.

Write about the trading activities of European companies in India.
What is Subsidiary alliance System of Wellesley? Explain.
Discuss the impact of permanent revenue settlement.

Examine the conditions of peasantry under the British Rule.

10. Explain the causes for decline of Handicrafts during the Colonial Rule.

[P.T.O.
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FACULTY OF SOCIAL SCIENCES
B.A. (IIT Semester) Examination
HISTORY
Paper I11
(History of India (1526-1857 CE)
(CBCS)

Time : 3 Hours] [Max. Marks : 80

9.

Answer any five questions, including Q. No. 1.
(Marks : 5 x 16 = 80)
Attempt any two questions in short-form. 2x8=16
(a) Panipat War - L.
(b) Ranjith Singh.
(c) Vasco da gama.
(d) Mercantilism.

(e) Railways.

Examine the achievements of Akbar.

Write an essay on Mughal Art and Architecture.

Estimate the greatness of Shivaji.

Explain the causes and results of Third Battle of Panipat.

Write about the trading activities of European companies in India.
What is Subsidiary alliance System of Wellesley? Explain.
Discuss the impact of permanent revenue settlement.

Examine the conditions of peasantry under the British Rule.

10. Explain the causes for decline of Handicrafts during the Colonial Rule.

[P.T.O.
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FACULTY OF SCIENCE
B.Sc. (IIT Semester) Examination
PHYSICS
Paper III
(Electromagnetic Theory)
(New)

(Under CBCS)

Time: 3 Hours] [Max. Marks: 80

10.

I1.

12.

Section A — (Marks : 4 x 10 = 40)

Answer any four questions.

Show that the electric field is negative gradient of electric potential.

4 x 1078 C of electric charge is present on a uniformly charged circular disc of radius
0.3 m. Find the potential at (a) a point 0.4 m on the axis, which is away from the
centre of the disc. (b) centre of the disc (c) the edge of the disc.

Derive an expression for magnetic force between two current carrying conductors.

Define the charge sensitivity and current sensitivity of Ballistic Galvanometer.
How can you increase the sensitivity of Ballistic Galvanometer?

State and explain Lenz’s law.

Calculate the mutual inductance between two coils when a current of 4 amp changes
to 12 amp in 0.5 sec, and induces an e.m.f. of 50 milli-volts in the secondary, and also
calculate the induced e.m.f. in the secondary if current in the primary changes from
3 amp to 9 amp in 0.02 sec.

Discuss growth and decay of currents in LR circuit.
Write a short note on n-network model.
Section B — (Marks : 2 x 20 = 40)
Answer any two questions.

State and prove Gauss’s Law in electrostatics. Apply it to calculate the electric field
intensity due to uniformly charged sphere (non-conducting) at various points.

State and explain Biot-Savart's law. Derive an expression for magnetic field intensity
due to a straight current carrying conductor.

Derive Maxwell’s electromagnetic equations and show that the electromagnetic waves
are transverse in nature.

State and prove.

(a) Superposition Theorem.  (b) Thevenin’s Theorem.

[P.T.O.
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FACULTY OF SCIENCE
B.Sc. (III Semester) Examination
PHYSICS
Paper III
(Thermal Physics)

(Under CBCS)

(Old)

Time : 3 Hours] [Max. Marks : 80

A

~

10.

I1.

12.

Section A — (Marks : 4 x 10 = 40)

Answer any four questions.
Explain transport phenomena with reference to a gas.
State and explain the second law of thermodynamics.
Define specific heat of a gas. Obtain the ratio of specific heats of gases.
Explain Joule-Thomson effect.
Derive Stefan’s law from Plank’s law.

Ablack body at 1127°C radiates maximum wavelength of 4 microns. If the wavelength
of maximum energy of moon is 14 microns, what is the temperature of the moon?

Explain the concept of Ensemble.

Give a comparison of M-B, B-E and F-D statistics.

Section B — (Marks : 2 x 20 = 40)

Answer any two questions.
Derive an expression for Maxwell’s law of distribution of molecular speeds.

Define thermodynamic potentials. Derive Maxwell’s thermodynamical relations from
them.

What is a pyrometer? Describe the construction and working of a disappearing filament
optical pyrometer.

Explain Bose-Einstein distribution law. Apply it to a photon gas to obtain the energy
distribution.

[P.T.O.
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Faculty of Science
B.A./B.Sc. (I111-Semester) (CBCS) Examination
COMPUTER APPLICATIONS
Paper-111 (New)
Relational Data Base Management Systems
Time: 3 Hours] [Max. Marks: 60/80

SECTION-A (Marks: 4 x 7 = 28)--- (BA)
(Marks: 4 x 10 = 40)--- (BZCA)
Answer any Four Questions

Describe the role and responsibility of DBA.

Explain the 3 level architecture of DBMS.

Write short notes on Indexed file organization.

Define normalization? what are the rules of normalizations
List and explain DML commands with suitable syntaxes.
Demonstrate the use Nested queries with examples.

What is optimistic concurrence control? Explain.

Discuss about data base backup?

O No gk wDdPE

SECTION-B (Marks: 2 x 16 = 32) --- (BA)
(Marks: 2 x 20 = 40) --- (BZCA)

Answer any Two Questions
9. Explain the advantages of DBMS in detail.
10. Discuss boyce codd normal form with an example.

11. What is JOIN ? List and explain different types of joins.
12. Demonstrate 2 phase locking with an example.



